HEAY SR,

RANGLISTE MITGLIEDER + (MITGLIEDER MIND. 36% GESPIELTE SERIEN) 98. SPIELABEND AM 07.12.20
FR. 04. DEZEMBER MO. 07. DEZEMBER GESPIELTE
RANG NAME SCHNITT | + / - ||GEW/| VERL | VERL GEG
1. SER. |2. SER.| GES. || 1. SER.|2.SER.| GES. || A | V %

= |RUHKAMP 2 |32 ]21% | 1.156 14,1] 3,1
1| = |BAUCKLOH, A. 1.294 | 885 1.835 | 995 40 | 47 | 41% | 1.140 |+12 ||11,5( 1,3
= |MAUL 18 [ 24 | 23% | 1.087 12,0 2,3
= |BAUCKLOH, W. 23| 98 | 48% | 1.021 99 | 11
= |HONAUER 617 951 2 | 61 ]38% | 1.015 | -8 ll11,0] 2,1
= JLOHSE, MI. 2 |14 | 10% | 1.009 99 | 1,4
= |KURING 1.097 |1.197 12 [ 81 | 55% | 974 10,5 1,9
= |V. ROOS 1.015 | -7 946 982 0 | 70 | 43% | 955 = [|10,9] 21
= |KNOFEL 787 | 909 0 | 74 | 45% | 946 10,9| 2,0
= JJusT 14 | 33 | 27% | 939 99 | 1,5
7 | = |GLAGOW 1.685 | 987 1.097 | 331 0 | 93 | 57% | 927 51199 | 15
= |SKWARSKI 18 | 25 | 24% | 908 10,2| 2,5
= |KEIM 2 |49 | 31% | 877 82| 11
8| = |WINTER 16 | 72 | 52% | 877 9,8 | 1,9
= |BREITFELD 2 |39 ]| 25%| 873 9,9 | 2,5
9| = |DELLITH 634 | 795 842 | 1.039 0 |136]83%| 863 |+2 |87 | 1,4
= |EWERT, W. 2 |32 |20%| 844 85 | 1,7
= |GESSNER 2 |45 | 28% | 844 93| 1,8
10| = |GANTE 1.022 | 983 -12 | 1.002 10 | 158 | 100%| 834 -4 ||10,3| 2,6
11| = |KUDERLING 844 814 4 (1201 69%| 786 | +1 |80 15
= |EWERT, UWE 2 |32 ]20%| 773 76 | 1,4
12| = |KRATZSCH 854 |1.063 925 745 10 | 62 | 43%| 768 | +3 17,5 | 0,9
13| = |KOSSINGER 792 |1.165 12 | 73 | 50% | 741 7,7 | 1,3
14| = |PORTER 2 |59 ]|37%| 650 7,7 | 21
15| = |BLAUERT, A. 2 |62 ]|39% | 579 6,0 | 1,5
= |LOHSE, MA. - | 2 1% | 1.239 10,5| 0,0
= |DANNER -1 3| 2% | 1129 13,3 | 2,7
= |MONCHGESANG - | 2 1% 976 11,0| 1,0
= |BRAUNHAHN - |41 ] 25% | 965 11,7 | 2,7
= |KOTZOREK - |1 1% 960 9,0 | 1,0
= |WITTKE -] 2 1% 926 95| 1,0
= |POTTER - |26 ]|16%| 875 9,7 | 2,3
= |DRAUDE - 4] 2% 847 12,5| 3,8
= |GRECIC - |11 ] 7% 836 7,3 | 1,0
= |BOHM -] 2 1% 834 6,5 | 0,0
1> |DILCHER -1 4] 2% 789 7,8 | 1,5
1 IREITZE, A. -] 2 1% 787 75| 1,5
4 |FLOTHER 772 498 - 119 | 12% | 783 17 )] 9,7 | 2,3
= |HEYNER -1 31 2% 777 6,7 | 1,0
= |REITZE, R. - l11 ] 7% 766 79 | 1,9
= |WIESER - |42 26%| 634 79 | 21
= |KAUFMANN -2 1% 313 7,5 | 4,0
= |APPELBAUM -1 1% 289 50 | 4,0
DURCHSCHNITT | 863 99 | 1,8




